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Where Should We Put the Slow In Foxtrot? 
You might say, well, that’s an easy question. Foxtrot timing is slow, quick, quick. We put the slow first. But, we shouldn’t feel constrained. Do you remember the Dancer’s License that you got when you graduated from your first set of classes? One of the freedoms that it confers is the freedom to play with the timing of the music. The standard in Foxtrot is to step on beat 1, hold beat, 2, and then dance our quicks on beats 3 and 4. Usually this flows well and feels good, but sometimes it limits what the music and the dance (and you) are trying to say. Sometimes it feels mechanical — step, pause, march, march — this is not the military!

Our license is to borrow from one part of a measure and use that little bit of time to enhance another part of the measure. We might borrow from the slow to make one of the quicks not quite so quick. The slow becomes a little shorter than two beats, and the enhanced quick becomes more like a slow. We might even borrow from a quick, dancing that step in less than one beat, so we can linger more during either or both of the other two steps.

Let’s compare a Spin Turn to an Overspin Turn. In both of these figures, we usually begin in closed position, facing reverse. The man steps back on his left foot (woman forward right), and we begin to pivot right-face. The man steps forward right between the woman’s feet, rising and completing the turn, and then he recovers side and back (woman side and forward) to end in closed position with the trail feet free. The standard Spin Turn ends with the man facing line and wall. An Overspin Turn turns more and might end facing wall or reverse and wall.

So, a Spin Turn goes around 5/8 in one measure of music. How can we go around 7/8 in the same length of time? The answer is that we don’t have to. We can find more time. The key step is the second one. This is where most of the spin occurs. This is also where the “picture” is. We are rising. Our topline is back and to the left. We are soaring around—so graceful. Conventional Foxtrot timing would have us do that in only a “quick,” in only one beat of music. It’s not enough. That particular step deserves more.

Instead of thinking of this measure of music as consisting of four beats: 1 2 3 4; let’s think of it as consisting of eight half-beats: 1 & 2& 3 & 4 & (And we could divide it even more finely.) In dancing a Spin Turn, and especially an Overspin Turn, we should not slavishly step on 1, 3, and 4. We should consider using more of these half-beats for the second step. It’s the working step. It’s the showy step. What if we stepped on the 1, on the 2&, and then on the 4&?  We are “milking” beat 3 of this measure. We are getting into that important second step, showing it off, riding the spin around, and simply not thinking about the third step until we get to where we want to be. 

We might even feel that the first step of this figure is the least important of the three. We might step on beats 1, 2, and 4. That’s more than milking a beat. We’re actually dancing the figure quick, slow, quick; but it’s okay. We can put the slow where we want. We can show off the part of the figure that we want to show off.
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